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BIOLOGY Paper: II

{ime: 1:45 Hours (Group: I)
Marks: 48

Note: Section Iis compulsory. Attempt any TWO (2)
questions from Scetion I
=
2 - Write shorf answers to any FIVLE (5) questions.
What are lenticels?

Differentiate between bronchi and bronchioles.

r Define expiration.

iv - What is guttation?

v wWiite down the size of human kidney?

vi- Write down the names of types of co-ordination.
v - Write down the funclions of sensory neurons.
<1 - Dafine nerve and write down the names of ils types,
4 = Write short answers to any FIVE (8) questions.

What is lacuna?

Write down two big functions of human skeletal system.

Define self pollination,

Diffarentiate between asexual reprogaction and
sexual reproduction.

VWhiat is chemical composition of chromosomg?
v Indentify two traits of pea seed studied by Mendel.

v - Write down scientific name of pea plant.

o Write down the names of nitrogen bases found in DNA.

4 - WWrite short answers to any FIVE (5) questions.

; Differentiate belween ectoparasite and endoparasite.

- Define symbiosis

of an ecosysiem?

- Define focd chain and give an example.
v - Write down the funclions of enzyme restriction

endonucieases and ligase.

v What is meant by genetic engineering?

ci- VWhat are narcotics? Give two examples.

antibiolics

Subjective
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ni- What s difference between abiotic and biotic components

- Differentiate between broad-spectrum and narrow-spectrum
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Section - I1 r‘u,.,b

5 - a) Describe the structure of nephron.
{by Explain the types of joints in detail.

- (a) Write down a note on thyroid gland.

(h) Explain two mechanisms of fertilization in animals.

7~ ¢a) Define anlibiotics and explain its major groups.

ih) Explain various steps of genetic engineering.
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1. 1- Which plant was selected by Mendel for his experiments? WY CaY u/ ¥ =l j & L 1.1

mustard (Us) 3+ (D) rose JEK-f (C) onion Jl; (B) pea > (A)

2 - The amount of nitrogen in expired air is - dn S J G S s v A -2
80% (D) 79% (C) 69% (B) 59% (A)

3 - Incompiete oxidation-reduction of oceurs ui':t'/ Y Ve Td“(t g AP u’f’? -3
in fermentation. -< &n
glucose pris (D) fipids 4 (C) fats u'y (B) proteins sy (A)

4 -. If somatotrophin is excessively produced after
growing age, it causes
tetany ¥ (D) acromegaly F4L1 (€)
5 - The process in which an unfertilized egg develops
into new offspring is called
parthenogenesis m’yﬂ’jg (B)
| fission” .« (D)
6 -. The principal decomposers of biosphere are
fungi & bacteria | /1‘5 s Jlf’ (B)
paramecium fﬁ“’l/,,f»
7 -- Which hormones are secreted by ovaries?
glucagon /¥ (D) testosterone u/}/rr: (C)

/

mRNA

8 - Genes are made up of
DNA (D) #
9 - The tube between kidney and uripary bladder is the
nephron sk (D) repal tubule Jwsfo (C)

(©€)

10 Antibiotic is a drug which stops the growthof ___
yeast <& (D) bacteria | ,}..‘ (C)
11- What do some bones produce?
blood cells %2k (D) oxygen u*/ 7
12 Dengue fever is a/an infection.

algal J‘("I (D) fungal JO (C)
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Note: Section I is compulsory. Attempt any TWO (2)

questions from Section IL.
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Section -1 Jjl o

2 - Write short answers to any FIVE (6) questions.
i- Why is larynx called voice box?

ii- What is glottis?
ni- Whatis difference between a stoma and a lenticel?

iv- Define osmoregulation.

v - Wirite down the length and weight of human kidney.

vi - Define reflex action and reflex arc.

vii- What is nerve impulse?

viii - Write down the functions of glucagon and insulin.

3 - Write short answers to any FIVE (5) questions.
i- :What is exoskelton?

- What are ball and socket joints? Give an example.

iii - How "drones" are formed?

iv- Define self-pollination.

v- What are genes?

vi- Differentiate between genotype and phenotype.
vii- :Define Mendel's law of segregation.
Vviii - ’Why Mendel selected| Ipea plant? Give two reasons.
4 - Write short answers tp any FIVE (b) questions.

i- Differentiate between population and community.

ii -  Write down the importance of decomposers.

1i-  Write down the importance of food chain.

iv - Define parasites. Write down its types.

v - .Define biotechnology.

vi- Define recombinant DNA.

‘Write down the function of sedatives.

‘Differentiate between narcotics and hallucinogens.
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6~ (a) Describe the structure of nephron in human kidney.
(b) Explain anta_gomsm_ in muscle action selecting biceps

and triceps as an example.

6 - (a) What is forebrain? Explain three important parts of

this region.

(b) Describe the artiﬁcipl vegetative propagation in plants.

7- (a) How bacteria develbp antibiotic resistance?

(b) Define ferméntation and write down its application

on industrial products.
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